Combining Transformations

In summary,
y=f(x) -—-->y=afb(x-c)+d

(X, y) ===-> (x * ¢, ay + d)

y=afb(x-c)+d
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Combining Transformations
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Ex) Describe y = -3f1(x - 4) - 5 in words
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Ex) The point (3, -4) is on the graph of y = f(X). —~5n a0
Determine its corresponding point after the following
transformations of f(x): y = 3f1(x-4) -5
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Ex) The point (3, -4) is on the image graph @fter the
following transformations of f(x): y = 3f% (x - 4) - 5.
Determine its corresponding point on f(x). sriginad
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a)y = 3(2(x + 4))?
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Ex) Sketch each function and state its domain and range.
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Ex) The graph of f(x) is given below.
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Write an equatlon for each new graph in terms of f(x
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Ex 1) Given T(x)

Ex2) Given j(x)

Graph: a
m(x) = éox) 3

Cyg) = (X, 22
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Graph:
f(x) = -j(1/3x + 1)
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